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PAPER-II
SOCIAL WORK

Signature and Name of Invigilator

1. (Signature) OMR Sheet No. & oo,
{Name) {To be filled by the Candidate)
2. (Signature) Roll No.
(Name) (In figures as per admission card)
Roll No.

Ell0EP

Time : 1"/, hours]

(In words)

[Maximum Marks : 100

Number of Pages in this Booklet : 16

Number of Questions in this Booklet : 50

Instructions for the Candidates

1. Write your roll nmumnber in the space provided on the top of | 1.
this page. 2.

2. This paper consists of fifty multiple-choice type of | 3.
questions.

3. Atthe commencement of examination, the question booklet
will be given to you. In the first 5 mimutes, you are requested
to open the booklet and compulsorily examine it as below :
(1) To have access to the Question Booklet, tear off the

paper seal on the edge of this cover page. Do notaccept
a booklet without sticker-seal and do not accept an
open booklet.

(ii) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the
Question Booklet will be replaced nor any extra
time will be given.

(iif) After this verification is over, the OMR Sheet Number | ,
should be entered on this Test Booklet. '

4. Each item has four altemative responses marked (A), (B),
(Cyand (D). Youhave to darken the circle as indicated below
on the correct response against each item.

Example :

where (C) is the correct response. 5.

5. Your responses to the items are to be indicated in the OMR
Sheet given inside the Paper T Booklet only. If you mark
atany place other than in the circle in the OMR Sheet, it will

not be evaluated. 6.
6. Readinstructions given inside carefully. 7.
7. Rough Work is to be done in the end of this booklet. 3.
8. If you write your Name, Roll Number, Phone Number or

put any mark on any part of the OMR Sheet, except for the
space allotted for the relevant entries, which may disclose
vour identity, or use abusive language or employ any other
unfair means, you will render yourself liable to
disqualification.

9. You have to return the test question booklet and Original
OMR Sheet to the invigilators at the end of the examination
compulsorily and must not carry it with you outside the
Examination Hall. You are, however, allowed to carry
duplicate copy of OMR Sheet on conclusion of examination. | 10
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SOCIAL WORK
Paper - 11

marks. Attempt all the questions.

Which one of the following is not a
part of social case work process ?

(A) Treatment

(B) Assessment

(C) Study

(D) Content Analysis

In order to find the degree of
relationships, we have to use a
statistical test called

(A) t-test

(B) Anova

(C) Chi-square test

(D) Pearson’s correlation

“Papers on Social Work — An Indian
Perspective” was written by

(A) G.R. Banerjee

(B) G.R. Madan

(C) Sachdev

(D) Marula Siddaiah

World Summit on Social Development
was held in the year

(A) 1994 B) 1995

(C) 1996 (D) 1963

The Theory of Demographic transition

includes

(A) High birthrate and high deathrate

(B) Rapidly falling deathrate and
high birthrate

(C) Low birthrate and low deathrate

(D) All the above

Pilot study refers to

(A) Preliminary testing of the tools
used for the research.

(B) Follow up study done within a
year after the original study.

(C) Preliminary study conducted on a
limited scale before the original
study.

(D) Macro level study undertaken to
test the hypothesis.

Note : This paper contains fifty (50) objective type questions, each question carrying two (2)

What Rights are Human Rights ?

(A) Rights which are provided by
Constitution of India.

(B) Rights which are Fundamental.

(C) Rights provided to all human
beings by nature.

(D) Rights desired by human beings.

Diagnostic School of Social Case

Work was developed by
(A) Ross (B) Jung
(C) Rank (D) Mead

Public Interest Litigation refers to

(A) Mechanism to provide justice out
of the Court.

(B) To provide speedy justice.

(C) To provide justice to poor, needy
and weaker sections of society
with the help of the NGOs’ and
media.

(D) None of the above.

Paulo Friere’s approach could be

briefly stated as

(A) Organization of services for
people.

(B) Mobilization of
leaders.

(C) Action-reflection process with
people.

(D) Identification of target systems
for work.

community

Which of the following is not a social
process ?

(A) Accommodation
(B) Acculturation
(C©) Annihilation

(D) Assimilation
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(A) 1994 (B) 1995

(C) 1996 (D) 1963
STHITohehIT WshHUT o 15T § INTHA &/8

(A) 3= SR AT =9 el

(B) e | Hedl g8 §ogal ae e
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(A) wg % U wgE STHTT wH
TRTETeh qRHeToT

(B) TS 3T & [ohT IH &% TH a¥ &
31T ToaT TTaT ST adieon 3TerEA

(C) 9o 3teage & gd WifAd tAH W
ToRaT ST aTeT URIYe 3Teqa=

(D) WIeRheTT % TXeTOT ¥ fear Tar
GeH-TRIG 7T

7.

TSR T TR & PR & 2
(A) YRA % TaEH FRT UG SAHR
(B) UH e S Hifereh e €
(C) HHESTIT St THid FRT U< BRI
(D) AT §NT 3read STHR

SIS Tl 3 T HF T’ Hf
Tt forsptera fomarm 2

(A) = (B)
©) = (D) HZ
FAiep-Ted ToheH e TeTid e & 2

(A) =T % TR A USH A h
fepantaty |

(B) @Rd =g feTm |

(C) TR TR el aen HuR Hredl
H Gerdd ¥ TS, SEaEsT el
FHHS ST bl =1 SqTeY AT |

(D) SWIaT ¥ F fohdl &l &7 |

Il X o SUNTH 1 AT Seoid T

FEHT AT ST HehelT & 2

(A) I % AT FareH 1 TS |

(B) WM =3l H Fd &G TR
AT (AfTATSST BT |

(C) T & | fohaT-uRTee= Uik |

(D) % feTT T wonferat s gee
FHAT |

. T=fataa 5 9 S 9 T gmtees uishar

T E?

(A) ESH

(B) TREHAURT
(C) foemm=
(D) SATHITIRIOT
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12.

13.

14.

15.

16.

17.

Which of the following is a correct
matching ?
(A) Juvenile Justice Act — 1985

(B) Untouchability - 1954
Offences Act

(C) Dowry Prohibition — 1962
Act

(D) Factories Act — 1948

Panchayati Raj Institutions in India
have brought about one of the
following :

(A) Eradication of untouchability

(B) Land ownership to depressed

classes

(C) A formal representation of
weaker sections in  village
governance

(D) Spread of education

Who is the author of the book “Social
Group Work — A Helping Process” ?
(A) Wilson G and Ryland

(B) Trecker H.B.

(C) Philips H.U.

(D) Konopka G.

The objective of Social Legislation is

(A) To solve social problems.

(B) To bridge the gap between
current needs and existing laws.

(C) To make new laws.

(D) To review the laws and
problems.

Manifestation of repressed ideas in the
form of finer things is

(A) Sublimation

(B) Ambivalence

(C) Compensation

(D) Fixation

Who gave the concept of ‘Looking
glass self” ?

(A) Karl Marx (B) G.H. Mead
(C) C.H. Cooley (D) M.K. Gandhi

18.

20.

21.

‘Operationalization of Variables’ in

social work research means

(A) Making the variables
enough to understand

(B) Making the variables measurable

(C) Arranging the variables in a
logical order

(D) Making the wvariables fit for
research.

simple

Which one of the following is not a
correct matching ?

(A) AryaSamaj - Swami
Dayanand
Saraswati
(B) Bhrahma — RajaRam
Samaj Mohan
Roy
(C) Prarthana — Ramabai
Samaj Ranade
(D) Satysodhak -  Jyothiba
Samaj Phule
The book ‘Social Diagnosis’ was
written by

(A) Mary Richmond
(B) Joseph Luft

(C) Perelman

(D) Ross

Assertion (A) : Panchayati Raj
Institutions have provided
women’s representation in local
self government institutions in
Rural India.

Reason (R) : Panchayati Raj
Institutions facilitates capacity
building and empowerment of
women.

Choose your answer from the codes

given below :

(A) Both (A) and (R) are not correct.

(B) (A) is correct and (R) is the
correct explanation of (A).

(C) (A) is correct but (R) is not the
correct explanation of (A).

(D) (R) is correct but (A) is wrong.
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15.

16.

17.
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(A) 9 =g eutaw — 1985

(B) 3TYIAT 3TRTY — 1954
sty

(C) &t oy atfufmm - 1962

(D) HREMT 3Tty — 1948

TR § Yol T FE1eT 61 Ueh ATy

FE 2

(A) STHIIAT AT IHcH

(B) Sford ot @t YiH-Tethed feermr

(C) T MIMET | HAS o7
ST UiaTTee

(D) TereT &1 TR

“HIYT Y4 T — T ST TET” J&qh
G B ?

(A) oo St qer et

(B) < TEAL

© ffem Ty,

(D) IR S,

TR SATFEE 1 3299 &

(A) WWISTS  TEEST T GHEE
HET |

(B) dHM  SYEYIRATI AT
faferat & i =t @TE & 9T |

(C) T B ST |

(D) fafEi (AN @ gHest Wt
el T |

T TRl & SeH TSl H UehIIehioT
T e & 2

(A) SITHOT

(B) &R

(C) efergfa

(D) TR

AR TATE Toth” 1 STTHRON fhgeht 3
T

(A) I AT
(C) wuwa. Tt

(B) Stug. HE
(D) WA, T

20.

21.

TS HE A CSTRIAARSIYE 3

AT &1 37 ¥ 9

(A) oo W % fau oRear
(STRTEe™T) T AT |

(B) UREd! ot AOH-ATT ST |

(C) uRadt i difhsh A H ared
HET |

(D) uREdt =i ¥Y &G SUFSR ST |

fAfafEd § @ i 91 981 fJer 781 8 2

(A) 3 Tt — @ g
XA

(B) &I 9T — T AR
1T

(C) U EEN - JEEE AR

SfAaT Fot

(D) gcasmygsk gars —

ARl SM"—IIFHH qden bl idh Ebﬁzf %‘ ?
(A) T v

(B) S %

(C) e

(D) [@

a‘_r (A):. FT'G[ . fﬁ
T @EEE I 4 Afgaret

EIRIGIGICEIEKES Gb{l‘lll%l

HIT (R) : TR T H e
ofgemet % &THAL-FET qer
GUITSRIHOT St GfereT Ut R
g

T feT MU e F HE W g :

(A) (A) T (R) I T € |

(B) (A) @& ¥ T (R), (A) & &l
AT T |

(€) (A) W& ¥ Wq (R), (A) I W
AT T § |

(D) (R)TEE, R (A) T |
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22.

23.

24.

Assertion (A) : The protection of
women by Domestic Violence
Act, 2006 has increased the
responsibility of the family.

Reason (R) : The protection of
women by Domestic Violence
Act will further weaken the
already weak institution of
family.

Choose your answer from the codes

given below :

(A) Both (A) and (R) are correct, but
(R) is not the correct
interpretation of (A).

(B) Both (A) and (R) are correct and
(R) is the correct interpretation of
(A).

(C©) (A)is correct and (R) is wrong.

(D) Both (A) and (R) are wrong.

Assertion (A) : Professional prejudice
is thwarting the growth of
medical social work in India.

Reason (R) : Lack of conviction on
the part of the medical social
workers is the reason.

Choose your answer from the codes

given below :

(A) Both (A) and (R) are correct.

(B) Both (A) and (R) are not correct.

(C) (A) is correct but (R) is not
correct.

(D) (A) is not correct but (R) is
correct.

Assertion (A) : Most of the
development programmes have
failed in benefiting the target
groups.

Reason (R) : Developmental
administrators lack the right
approach and commitment.

Choose your answer from the codes
given below :

(A) Both (A) and (R) are correct and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are not correct.

(C) Both (A) and (R) are correct, but
(R) is not the correct explanation
of (A).

(D) (A) is correct, but (R) is not the
correct explanation of (A).

25.

26.

Assertion (A) : ‘All Human Rights for
All’ cannot be realised without
Right to Development

Reason (R) : Right to development
ensures the realization of human
rights.

Choose your answer from the codes
given below :

(A) Both (A) and (R) are correct and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are not correct.

(©) (A) is correct, but (R) is not the
correct explanation of (A).

(D) Both (A) and (R) are correct, but
(R) is not correct explanation of
(A).

Assertion (A) : Reformation of crime
convicts is possible with the
appointment of  professional
social worker in prisons.

Reason (R) : Professional social
workers are equipped with
knowledge and skills to deal with
such issues.

Choose  your from the

following codes :

(A) (A) is correct, but (R) is not
correct explanation to (A)
(B) Both (A) and (R) are correct and

(R) is not the correct explanation
of (A).

(C) Both (A) and (R) are not correct.

(D) Both (A) and (R) are correct and
(R) is the correct explanation to
(A).

answer
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22,

23.

24.

ATHUT (A) @ = e itataw 2006
FRT TEcsl S GEW H WEHH

T STH | e 1 siac 5 19T
g
HROT (R) : I T sufEm gm

Afgettall & G F AEowH HT
SH % RO WA ¥ FHSI
TREREd e R eSS
B |

T 5T T e ¥ Wel SR 9T

(A) (A) @ (R) Tl Wl &, W= (R),
(A) I T& AT TR E |

(B) (A) @ (R) IH1 Wel & T (R),
(A) i T&l AT E |

(C) (A) W& &a«m (R) Tod € |

(D) (A) T (R) I T € |

AMUHT (A) : OIS YATE IR §
Tafercda a1 & fawE o
YT eI HIT & |

%I (R) : TAHT FHROT AHeEE-
TS FHEFAT § g fovard @
AT |

frfatEd $e ¥ W6l 3T ge

(A) (A) @ (R) ST W8T & |

(B) (A) TN (R) I TeAd & |

(C) (A) W ¢, W (R) Tod & |

(D) (A) 7T &, W= (R) TE & |

AfUHUT (A) @ UHFR RS
FrHH AT o P A G o
IFATRE |

HIT (R) : fopEmeE TSl o
& IUNH dAT Ufdegar o hAr
T

T 5T T e ¥ Tel SR g

(A) (A) @ (R) IH1 Wel & T (R),
(A) Tl TET AT F |

(B) (A) T (R) I T € |

(©) (A) @ (R) T Wl & W= (R),
(A) ! TE AT TE E |

(D) (A) W & W (R), (A) I Wl
T TR € |

25.

26.

AUHUT (A) : fIHT & TUHR o fomr
T AFATYSR T & W @
R BT el TehaT ST Hehell |

HRUT (R) o B o B |15y
TFEI$R & o8 Bl W ST
gffeed T § |

e T T e ¥ el W AT

(A) (A) @ (R) SH W&l & @1 (R),
(A) & TE AT E |

(B) (A) @« (R) & TeAd & |

(©) (A) W& & W< (R), (A) & T
T TR ¢ |

(D) (A) @ (R) T & &, W (R),
(A) I T& AT TR € |

A (A) @ FRO H 9T

FROT(R)  : UH P&l W HEGR! HH
% foIT ToT wEwaret & 9E A=
TqAT 2T Bl & |

9 13T 7T e ¥ HEl W I ¢

(A) (A) W@ & T (R), (A) * W@
T T € |

(B) (A) @ (R) I Wl & T (R),
(A) =l & =rE & ¢ |

(C) (A) T (R) 1 TTowd € |

(D) (A) @ (R) EA( W&l & T (R),
(A) St T& AT |
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27.

28.

29.

30.

31.

Assertion (A) : Working with
minorities requires that social
worker  has an  indepth
understanding of the effect of

oppression on the minority
groups.
Reason (R) : Oppression of

minority change the mindset of
oppressed which requires the
attention of social workers.

Choose your answer from the

following codes:

(A) Both (A) and (R) are correct and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are correct, but
(R) is not the correct explanation
of (A).

(C©) (A) is correct, but (R) is not
correct.

(D) Both (A) and (R) are not correct.

Assertion (A) : Persons with low self-
esteem tend to find fault with
others.

Reason (R) : Improper socialization is
not the root cause of low self-
esteem.

Choose  your

following codes :

(A) Both (A) and (R) are correct.

(B) Both (A) and (R) are not correct.

(C©) (A) is correct, but (R) is not
correct.

(D) (A) is not correct, but (R) is
correct.

answer from the

Who pointed out that ‘development
implies qualitative change’ ?

(A) LaBanVie (B) Vauden daele
(C) Siegel (D) Piaget

The correlation co-efficient tends to lie
between.....

(A) Oto+1 B) +1to+2

(C) Oto-1 (D) +1to-1
Human Development Report is
published by

(A) World Bank (B) ADB
(C) UNDP (D) UNICEF

32.

33.

34.

3s.

Match the enactment of the following

Acts with the years.

(a) Mental Health
Act

(b) The Environment (2) 1984
Protection Act

(c) Developmental
Disabilities Act

(d) Job Training and (4) 1987
Partnership Act

Codes :

@ (b © @

A @ @ €O O

@ @O 2 3G @

o G @ @ A

G @ 3 @ @

Sequence the following steps of

Community Organization process :

(i) Identifying needs

(11) Exploring the resources

(iii) Prioritising the needs

(iv) Developing Programmes

Codes :

A) @© Gy @) (aGv)

B) @ @) @) @Gv)

© Gy @ @) aGv)

D) G @ Gv) (i)

The sequencing in research process is :

(i)  Studying existing literature in a
field.

(i1)) Generating new theories

(iii)) Analysis of the findings

(iv) Synthesing ideas

(1) 1983

(3) 1986

Codes :
A 1 Gy @) @1v)
B) (@) @Gv) (@) (i)

© @ G @aGv) (i)

D) @© Gv) G (i)

Put the following events in the order of
their occurrence in a calender year :
(i)  World Food Day

(i1)) World AIDS Day

(iii) International Day for Elderly
(iv) World Disabled Day

Codes :

(A) (i) 1) @) (v)

B) i) 1) @dv) (1)

(©) () (@) @) av)

D) ) @G (@Gv) (i)
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27.

28.

29.

30.

31.

AfHU (A) : FUGEHRT H ST B
FH F T TEHN FEFAT °
FAIGETF I & IceT & U
T TR TH BT =AM |

HRT (R) : ITCUHETHT H SIS
Sciifed =afe &l @/ &l S8l ol
2, STt 3} GHT Sl i &
T AT |

T 5T T e ¥ W@l IR g

(A) (A) T (R) Sl W & T (R),
(A) ®f TE AT T |

(B) (A) @ (R) 3 el &, W (R),
(A) I & AT T T |

(C) (A) W& ¢, W (R) T € |

(D) (A) T (R) I T € |

afie (A) ¢ W 2ICspil e}
MG &l HA & o I B
FHET e € |

HIT (R) : 3T HTATSTHIOT
ST T U T ToT HRUT el
T

T 5T T e ¥ Tel SR g

(A) (A)TE (R) ST TR & |

(B) (A) TN (R) I TeAd & |

(C) (A) W& ¢, W (R) T € |

(D) (A) T &, W (R) Tel & |

Tz fha ga@n 6 g § o
e e & 2

(A) S (B) dT3eT A
(C) et (D) drE

g I Bt & 2

(A) 0¥+ 1 Fd
(B) +l1¥+2F =
(C) 0¥-1%d™
(D) +1¥-1Fd

P STATHIE OIS fhaeh §RT Wi
fopam ST € 2

(A) ToSdF
(C) FwSd

(B) T
(D) FAE®

32.

33.

34.

3s.

TAfeET SAfafTam a2 3 IR 8 &

T BT AT HIT

(a) HTA T U (1) 1983
(b) T5 TaT3He UM U (2) 1984
(c) TR (3) 1986

(d) gﬁﬁm U e (4) 1987

E 4
(@ () (© (@
A @ @ O 3
@ @1 @ & W
© 3G @ @
® @ 3 @ D
TS TS UishaT & efeRad =Xl
A H AT T
(i)  STERIHASA H TE=H |
(i) EETEHT T ST | .
(i) STTEYIHATSTT Pl WAHHAT e

(iv) Y fashiad e |

A) (@) @Gy (i) (1v)

B) (@) @) G (1v)

©) @Gy @) (@) (@v)

D) (i) @ (Gv) (i)

wy Uk W FEAfGiEd e

: .

() Gt faug-gm § Suersy e
3T T |

(i) T TogTal o1 UiaaTe= e |

(iii) TehuT T TawerToT T |

(iv) Toami =1 GeeAvor ST |

%<

A) (@) @) @i) (v)

B) (@) Gv) (i) (D)

© (@) @) (v) (i)

D) (@ Gv) G (i)

feiad wewerut feedi st shelvet a9 |

3% AT 6T ST & HH H Fadd
.

(i) TEEFS

(i) TEETSHT

(ili) TTEIAA T B Toglell

(iv) dcs fequaes ©

%<

(A) (i) @@ (1) (Gv)

B) i) @) (@v) (i)

© (@ @) G (v)

D) (@ @Gi) Gv) (i)
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36.

37.

38.

What is the sequence of PRA process ?

(i)  Sensitizing the team.

(11) Rapport building with
group.

(ii1)) Sharing the observations with
target group.

(iv) Conducting the PRA.

Codes :

A @ G > 3(4v)

B) @© a) @Gv) (i)

© @ @Gv) @) i)

D) @ @v) @) (@)

target

Match the following persons with the
area of their association
(i) Balwant Rai (1) Marthandam

Mehta Project
(i1) Spencer Hatch (2) 3 tier P.R.
System

(1i1) S.K. Dey (3) Shantiniketan

(iv) Ravindranath  (4) Power to
Tagore People
Codes :
» @) @) (@Gv)

@ @O 2 & @
B @ @& @O O
e @ @O @ O
® @ @O & @D

Match the items of List — I with
List —II.

List - I List — 11
(1) Mode (1) Association
of Attributes
(i1)) Mean (2) Dispersion
Deviation

(i11) Chi-square (3) Correlation
(iv) Karl Pearson (4) Central
Method tendency
Codes :
i) @)  ai)  (v)
A 2 @ 3 @
@ @ @ € O
<o @ @ G O
@ @ 2 3G @

39.

40.

Match the name of the activists given
in List — I with the name of movements
given in List — II.

List -1 List - 11
(i) M.K. Gandhi (1) Chipko
Movement
(i1) Vinoba Bhave (2) Narmada
Bachao
Andolan
(ii1) Arundati Roy  (3) Bhudan
Movement
(iv) Sundarlal (4) Constructive
Bahuguna Programme
Codes :

@» (@) @) (@Gv)
@A @ 2 6 O
B @ G @ @
e @O 2 @ O
® @ & @O &

Match the following names of the
journals given in List — I with the
institutions given in List — II.

List -1 List - 1I
(1) Indian Journal (1) Nirmala
of Social Niketan
Work Mumbai
(i1) Social Work (2) N.LLR.D.
Perspectives Hyderabad

(iii) Contemporary (3) Tata Institute

Social Work of Social
Sciences
Mumbai
(iv) Journal of (4) Department
Rural of Social
Development Work
Lucknow
University
Codes :

@® (@) @) (@Gv)
@ @O & @ O
B @ @ @O 3
e 6 @O @ O
® @ @O & @D
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36.

37.

38.

Tt 3T T UTshaT T W&l 55 T & 2

() 29 B HATAUGORNCT ST |

(i) 1T a7 & T =S ST |
(iii) 7T 97 o Y FeToT B YERR! T |
(iv) U 3R T & Fae |

E T

A @ @G) G @Gv)

B) @ () @dv) (i)

© @ av) (@) (i)

D) @ @av) (i) (i)

frfafaa safeaar = 379 detua sEas
% T GATETT HIT :
() Sored T Hear (1) Aved
RS
(2) 3 feR .3,
e
(iii) TG®. T (3) wnifarTeRa
(iv) TR SR (4) TR E Uiget
kT

(i) TE T

@ () (i) (@v)
@ @O @ 6 @&
B @ @& @O O
<© @ @O @ 3
® @ @O 3 @&

gt — [t 7_1 & g — 11 & | gaferd

T -
e -1 = - 10
ORERED (1) Toreroarst
T AR
(i) e Torae (2) VB
(iii) =R (3) WEgey

(iv) HTeT TRRET 9IS (4) HE Ugrd
YA

@® (@) (@) (@{v)
@ @ @ 3 @
B @ @& @O O
e @ @ @O O
® @ @ 6 O

39.

40.

T — 1§ SooifEd Qishd ufaeimt
g - I | Sooifgd ST=IeHl & a1

GHIAT I

T -1 = - 10

(i) wH.F, M OOREEER
G

(ii) TortraT st (2) =TT ST
3T

(iii) 3T&eet T (3) &H /e

(iv) EXeITeT SO (4) HEfRed
it

T4

@» (@) @) (@Gv)
@ @ 2 & @O
B @ & @ O
<o @O @ @ 3
® @ & @O &

Tt — 19 3 7S ubAeRtet @ gt — 11 H

few MU HerET o W gRfed S
e -1 = - 10
(i) e @ (1) Twern ek,
AT WY T g
(il) TP T (2) UF.3ME. 3R,
Taufreey T
(iii) AR WerA  (3) 20T SRS
CE ATE H9TA
Y, g
(iv) SHeT 3T TA (4) TS
TIATHE T, oETs
IELEIERIGE
[ YA

@ () (i) (v)
@ @O & @ O
B @ @ @O O
<© & @O @ @
® @ @O G @
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41.

42.

Match the following items given in
List — I with the items given in List — IL.

List - I List — 11
(1) Creative (1) Body
thinking Language

(i1)) Convergent (2) Team spirit

thinking
(iii) Synergy
(iv) Kinesics

(3) Novel thinking

(4) Responses
based on
reasons

Codes :

i @) i) @Gv)
A & @ GO @
B @ 3 (G @
o @ 3 @ G
O 3 @ @ @

Match the following National institutes
given in List — I with their places of
functioning given in List — IL
List -1 List - 11
(1) National (1) Mumbai
Institute of
Orthopedically
Handicapped
(i1)) National
Institute of
Visually
Handicapped
(ii1) National
Institute of
Nutrition
(iv) National
Institute of
Hearing
Handicapped
Codes :
i @) i) @Gv)
A 2 3 G @
® @ 3 @ @
© 3 @ @ @
® 3 @ @ @

(2) Kolkata

(3) Dehradun

(4) Hyderabad

43. Match the following names of the

44.

books given in List — I with the names
of the authors given in List — II.

List -1 List - I1
(i) An (1) W.A. Fried
Introduction to Lander
Social Work
(ii)) Community (2) Skidmod
Organisation : and Thakrey
Theory and
Practice.
(i11) Social Case (3) M.G. Ross
Work :
Problem
Solving
Process.
(iv) Introduction to (4) H.H.
Social Welfare Pearlman
Codes :

@ () (i) (v)
@ @ @ 6 O
B @ & @ @)
e @ @ 6 O
® @O & @ @

Match the labour legislations given in

List — I with the year of enactment

given in List — II.

List -1

(1) Industrial
Disputes Act.

(i1) Provident Fund (2) 1952
Act.

List - IT
(1) 1948

(ii1)) Employees (3) 1961
State Insurance
Act.

(iv) Maternity (4) 1947

Benefits Act.
Codes :
1) (@) (@) (@v)
A @ @ @O 3
@ & @ @O @
o @O 3 @ @
G O @ 3 @
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41.

42.

et — [ 9 & TS TRl g - 11 W & e

TST o 1Y GAfeTT T
T -1 = - 11
(i) ToEEEs (1) IR AT
=
(i) ITNTERT | (2) W 9ET
(iii) wEfsHar (3) e g
(iv) FEATGFT  (4) T e
wfafsear
E T

@» () (i) (@v)
@ 3 @ GO @
B @ & @O @
<o @ 3 @ O
® & @ @ O

g - [ ¥ fw mw g e w®

T — 11§ ST U 39t fafetd & &=

% T FHTT DT

LU |

(i) e FRIeTe
Ah
ameTdfeshelt
TUEIhE

(i) e FRIeTe
3T fersyatett
TUEIhE

(iii) e FRITL
3T =2 ivH

aft - 11
(1) HeE

(2) hIeThIdl

(3) =@qg

(iv) e FRIeTe
3T g

gt

(4) T=E]

@ () (i) (v)
@ @ 6 @O @
® @ & @G @
e 6 @ @ @O
® 6 @ @O @

43. T — 19 < TS q&Ieh B gl — 175U

44.

T 377 TG & AT GHTT HITTT
T -1 = - 11

() TERRAZ (1) T
A g TS Tiet

(i) R (2) Tperrs
SITIESNE qAT L
Ry woe e

(iii) H9T HF g : (3) TS I9
iEses)

(iv) ZeRMAZ (4) TETE.
HI9TeT AT TAHH

T4

@ () (i) (@v)
@ @ @ 6 O
B @ & @ @O
o @ @ 6 O
@ @O & @ @&

T — [ | iivre sifufrast g — 10

T qReforg 39 Wik fhT 99 & 99 &
Ty GATET HIfTT
e -1 = - 10
(i) oenfires faas (1) 1948
A=
(i) wferex fAfy (2) 1952
A=
(iii) FHHART T (3) 1961
o Sttafae
(iv) AIged o (4) 1947
s Icpt)
e

@ () (i) (v)
@A @ o GO 03
B & @& @O @
o @O 63 @ @
O @O @ 6 @
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45.

Match the name of the programmes/

initiatives given in List — I with the

year of inception given in List — IL.

List -1 List - II

(1) Swarnjayanti Gram (1) 1992
Swarojgar Yojna

(i1) National Rura (2) 1995
Employment
Guarantee scheme

(iii) World Trade
Organisation

(iv) Millennium
Development —
Goals

Codes :

(3) 2000
(4) 2005

(i) () G (v)
A (I @) 2) (3)
B) ) (1) (2) (3)
<€) 4 @) (I (3)
O 2 @ @O O
Read the passage and answer the
questions, that follow based on your
understanding of the passage.

How one can promote inclusive
growth ? There are elements — like the
promotion of self-help groups, or the
discussion about the Mahatma Gandhi
National Rural Employment Guarantee
Act (MNREGA), where it is claimed
that this measure has been “highly
inclusive”, with 51% to 56% of
beneficiaries being SC-ST and 41% to
50% being women. In order to ensure
that benefits of growth are more
equitably redistributed, the government
needs to make sure that the most
marginalized remain in focus vis-a-vis
all policies, not only in terms of some
special policies, like affirmative action.
In other words, the entire gamut of
social policies needs to be monitored in
terms of their impact on the most
marginalized sections, if inclusive
growth is to become a real policy,
mstead of remaining a mere slogan. For
instance, take the issue of food security.
Here, if complex academic debates over
counting methods and deflators result in
a situation where large sections of poor
people end up being classified as non-
poor and therefore lose their eligibility
for subsidized food grains, the high
growth rates could co-exist with large
scale immiserization of large numbers
of, for example, SC-ST or Muslim
populations. While the debates can (and
should) continue, it might make more
sense to move towards universalization
of the public distribution system, with

46.

47.

48.

49.

50.

Paper-1I

14
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strict steps to lower corruption at all
levels. Lowering hunger and
malnutrition levels, especially among
the most marginalized, would be an
important  step towardi inclusive
growth. However, the 12" Plan draft
paper lacks a clear focus in this area,
and reflects the pressures to move away
from universal schemes towards
targeted schemes, the latter being
subject to a large number of errors,
especially serious being those that
exclude the really poor.

Inclusive Growth primarily aims at :

(A) Catering to the needs of weaker
section on preferential basis.

(B) Isolating weaker section from the

main stream.

(C) Promoting reverse
discrimination.

(D) Promoting anti-poverty
measures.

Inclusive Growth requires adoption of
appropriate policies which cater to

A) Reducing corruption

(B) Disintegration of disadvantaged
section from others.
(C) Holistic wellbeing of
marginalized section of the
society.
Punishing ineffective
government agencies.

D)

Food Security under inclusive growth
refers to :

(A) Import of food

(B) Transfer of agricultural land to
poor.

(C) Mid-day meal for school
children.

(D) Provision of subsidized food

grains for poor.

Intended benefits of inclusive growth
will lead to :

(A) Personality development

(B) Social disharmony

(C) Socio-economic growth of the
disadvantaged people.

(D) Malnutrition.

One of the objectives of inclusive

growth is to ensure

(A) To reduce insurgency and
terrorism

(B) Protective  discrimination  in

favour of weaker section in
employment sector

To resolve industrial disputes

To check migration.

(©)
D)

J-10-12
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45.

g Hﬁﬁ@%%aﬁg

Y o G gﬁﬁaaﬁﬁ@
= - 10
(i) wﬁﬁﬁﬂ?m (1) 1992
TSI ST
(i) T AEHO ISR (2) 1995
TS Fier T
(i) fova =MR deA (3) 2000
(iv) Teass o @ (4) 2005
%<
(i) (i) (@) (@1v)
A O @ 0 &
B @ O @ &
< @ O @O 3
D 2 @ @O 3
THI o YN W 36 3 § G 7T ue) &
3T T

U g P HT UPHR Ferer f5ar S gehdr
T 799 U8 a0 § - S T-Terdd THel I e
ST 37T HETEAT TTE A W07 ASTIR RO
atafag (@) (MNREGA), &9 51% 9
56% T SIGrad STqal/SHSTaa & eedr
A 41% ¥ 50% TF % Hiecl AIITEA
TG F STI-THEN ST T AT H
T forar T ¥ | i & AT @i SiiHS qHAT %
Y GAGART A & [T WER Tl I GHArad
AT BT {oh ST (SUTeTe) @ | | SAeheie
AN W, TEHCT TRE St fow Aifaar &
R T & el sfesh qHE Aad & urved 7
&I Higd fhaT ST | 3O VISET H, G GHISTT
g H T ART O 7 S U ARATIH AT &
T H g BT & o Fatash SUae A 0
TG &% G H FHSTRE Aifqdl & GqoT fawar
& % NN AT AR § | STEIURAET,
WG & g 1 o | ATS MO 3 i fafear
T TR W el @ fgemget sew @ ud fefa
39T Bt & fed et w6 §er 9 IR %
®Y H T & TeT & 3R 39 YR SRR Te-
HIHI I Sl O | Sted & e 8 ar 39 et
" glg X I e R, IO, AT
STt / ST T qEeTd ol & |iHferd
TH 9 3o gy S areary ferd en | g
Te@ SR @I (AT A AeN), FE A ek

A9 M 519 39 Qe [ad?oT HOTed! bt 31T
TR B T T TR T TRTAR HH HH 8
FAR FEH IeW H 9@ T & | g@ q
FUOT % TR HI, R Suiaer & o, F9
FHAT FHERT gy H KEm § Hew@qul w_y
g | fRT oft, IREe IS & WO | 39 &
W W T H & 81 hisd (6T T4 & 947 I8
HIEE TS | ghT AT TS T &
higd L o qaTd i Uiarsied il & Steh
AT & | TRIS AT ot afetid hidl ¢ |
46. TUET gig HT WATHF AeT FT & ?
(A) THEAT & YR W FHSIT T
SMEATIHATST T GfeT HEAT |
(B) SHESIR o1 ST JRTERT T 3ToRT el |
(C) Towid SgvIE ol ogTel <7 |
(D) TRIE-Toeg SUTET i FgET < |

T gfs % fow oEr Hifd sTEm W

SIITHAT & T TETTH &
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(B) = gergrafea
foeeT o |

(C) TS o IUTTa ol o Hehel FHodToT

(D)

H |

FAH |

TRl gfg & oidid @rr ustd g
foret e ol & 2

(A) T U=Te S T |

(B) =l e Y 1 &0l |
(C) mqm%ac—nﬁ%m FTRTEH-

|

(D) Wi % U THREET @R W
EE |

TR g o 3 T I 3= &

(A) =R T

(B) WIS ST

(C) gfaumatad i 1 GrIsTeh- ST

(D) FHEoT

ffafas & 4 fod

TSR g T TH I ¢ 2

(A) TYEE qAT AR § HH A |

(B) USTIR & & | FHUSIT o7 o 9T |
T HEHTE |
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